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QUESTION 1

Which statement is FALSE related to loading a table into HeatWave? 

A. Data is distributed among analytics nodes by slicing tables by vertically. 

B. Data is read from InnoDB using batched, multi-threaded reads. 

C. Data is partitioned by primary key unless data placement keys are defined. 

D. Data is converted into columnar format and sent over the network. 

Correct Answer: A 

 

QUESTION 2

Which three actions can you perform on a DB system that has an Oracle Data Guard association with standby
database? (Choose three.) 

A. Use the reinstate command to return a failed database to the standby role after correcting the cause of failure. 

B. Write on both primary and standby databases because DB system standby databases in Oracle Cloud Infrastructure
Database are logical standbys. 

C. Terminate a primary database in the DB system. 

D. Switch over the primary database to the standby role, perform maintenance on the standby database, and then
switch it back to the primary role. 

E. Failover the standby database to the primary role if the primary database becomes unavailable. 

Correct Answer: ADE 

 

QUESTION 3

You use the Oracle Cloud Infrastructure console to create a MySQL DB system. You give it the name "mysql" and set
the administrator username to "mysql.sys." You give it a data storage size of 50 GB and set the host name to "mysql-
host." 

You do not specify a Maintenance Window start day and time. 

Which action causes an error? 

A. Storage size is too small. 

B. Username "mysql.sys" is reserved. 

C. Host name should contain only letters. 

D. Maintenance Window start time is required. 
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Correct Answer: B 

 

QUESTION 4

Which users created on Database Servers can be used for both Oracle database and host management of your
Exadata Database Service? 

A. root, opc, oracle, and grid users 

B. root, opc, oracle, grid, and cloud users 

C. opc, oracle, and grid users 

D. root, oracle, and grid users 

Correct Answer: A 

 

QUESTION 5

Which two steps must be taken before installing a management agent for the Oracle Cloud Infrastructure (OCI)
Database Management Service? (Choose two.) 

A. Create or copy an Agent Install Key. 

B. Create or copy an Agent OCID. 

C. Patch the database to be managed. 

D. Confirm the OS and networking requirements. 

E. Install TLS 1.3 on the database system. 

Correct Answer: AD 

 

QUESTION 6

Which network is used to facilitate the secure monitoring andadministration of Oracle- managed infrastructure
components in Exadata Cloud@Customer? 

A. InfiniBand network 

B. Backup network 

C. Client network 

D. Control plane network 

E. Cloud operations network 

Correct Answer: D 

Latest 1Z0-1093-23 Dumps | 1Z0-1093-23 VCE Dumps | 1Z0-1093-23 Braindumps                                3 / 6

https://www.certbus.com/1z0-1093-23.html
https://www.certbus.com/1z0-1093-23.html
https://www.certbus.com/1z0-1093-23.html


https://www.certbus.com/1z0-1093-23.html
2024 Latest certbus 1Z0-1093-23 PDF and VCE dumps Download

 

QUESTION 7

You want to scale within Exadata System. Which of the following two statements are true? (Choose all correct answers) 

A. The setting of database parameter CPU_COUNT is affected bymodifying the number of enabled OCPU cores. 

B. Modifying the number of enabled OCPU cores does not require database downtime. 

C. Modifying the number of enabled OCPU cores requires database downtime. 

D. The setting of database parameter CPU_COUNT is not affected by modifying the number of enabled OCPU cores. 

Correct Answer: AB 

 

QUESTION 8

You are asked to create a MySQL Database Service system. You log in to the group\\'s Oracle Cloud Infrastructure
tenancy and access the assigned compartment, and find that all policies have been configured and tested. What is the
next step to create a MySQL Database Service? 

A. Create the MySQL DB system. 

B. Connect to the MySQL Database Service system endpoint. 

C. Create a Linux compute instance. 

D. Create a Virtual Cloud Network by using the VCN Wizard. 

Correct Answer: A 

 

QUESTION 9

What is true about scheduling Infrastructure maintenance? 

A. Customers do not have control over Infrastructure maintenance schedule because Oracle undertake this effort. 

B. Customers can schedule the Automatic Infrastructure maintenance window. 

C. Oracle provides you a choice of three maintenance windows to choose from. 

D. You can only choose the time of day that Infrastructure maintenance can be scheduled for. 

Correct Answer: C 

 

QUESTION 10

In addition to the automatic backup of your Oracle Database associated with a database deployment, you are planning
to take an on-demand backup of a database on Exadata CloudService. How do you do this? 
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A. Disable the automatic backup configuration and then take an on-demand backup. 

B. First connect to the Exadata Cloud Instance as the oracle user and then take a backup. 

C. Use the Create Backup button in the backup section ofthe Database Details page. 

D. Perform a recovery operation to a specific long-term backup. 

Correct Answer: C 

 

QUESTION 11

What can you use to enable an on-premises Enterprise Manager instance to monitor Exadata Cloud Service in a private
OCI subnet? 

A. virtual Cloud Network (VCN) 

B. Client subnet 

C. Virtual Network Interface Card (VNIC) 

D. FastConnect 

Correct Answer: D 

 

QUESTION 12

Which TWO statements are true when deciding which Oracle Cloud Infrastructure (OCI) region to register an Exadata
Cloud@Customer infrastructure in? (Choose all correct answers) 

A. Exadata Cloud@Customer is hosted in a customer data center so the Exadata infrastructure is not registered in an
OCI region. 

B. Consider any business policies or regulations that preclude the use of a particular region. 

C. Consider the physical proximity of the region you register the infrastructure in to your data center. 

D. The Exadata Cloud@Customerregion can be changed after the infrastructure is created. 

E. Consider which availability domain (within the region) to create the Exadata Cloud@Customer infrastructure in. 

Correct Answer: AB 

 

QUESTION 13

Which of the following resources can be scaled up and down on your VM cluster on Exadata Cloud@Customer? 

A. CPU, Persistent Memory (PMEM), Local Storage, and Exadata Storage 

B. CPU, Memory, Local Storage, and Network 
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C. CPU, Memory, Local Storage, and Flash Storage 

D. CPU, Grid Infrastructure Bandwidth, Memory, Local Storage, and Exadata Storage 

E. CPU, Memory, Local Storage, and Exadata Storage 

Correct Answer: E 

 

QUESTION 14

Which two statements are true about using a Service Gateway? (Choose two.) 

A. The Service Gateway with a private subnet can be used to access Object Storage. 

B. The Service Gateway can connect to services in the same region of its VCN. 

C. The Service Gateway can connect to services in other regions outside of the VCN. 

D. The Service Gateway can be used to connect to the Internet. 

E. The Service Gateway with a public subnet can be used to access Object Storage. 

Correct Answer: AB 

 

QUESTION 15

You have been brought in to help an organization with slow nightly batch processing running on their Exadata Database
Service. You determine that the workload is CPU-bound during the batch window. 

Which command-line tool would you use to script an increase or decrease in OCPUs? 

A. OCI CLI 

B. exacli 

C. ocpucli 

D. dbnodecli 

Correct Answer: A 
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